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(M. n) (H./m) (H./m) (%) (%)
FE (KE—1 7 EFTEHEE1TH16&9 50, 500 49, 400 49,100 -2.2 -0.6
(NX—37) [BEf1—16—6
FE—19 IFEHm=AAE3THEHSE®6 37, 000 36, 500 35, 900 -1.4 -1.6
(n—24) [=ARE3—8—6]
IFE—2 2 IRETHINMEEAT 1 TE2 1 &1 106, 000 105, 000 106, 000 -0.9 1.0
(A—34)
IkE—2 3 IFEETREBEENM2TH4& 92, 600 92, 500 92, 500 -0.1 0.0
(n—2)
IEE—30 Ik Em/\Vigh 1 TH 5 &5 111, 000 110, 000 109, 000 -0.9 -0.9
(A—1)
IkE—3 3 IEFMHAETITH 7& 14 140, 000 139, 000 139, 000 -0.7 0.0
(N—61)
KiE—10 KEHERNEFEESI 20&F2 52,100 51,100 50, 800 -1.9 -0.6
B®—11)
KiE—14 RiEBTHELEILEISTH7E 24 75, 700 74,700 74, 400 -1.3 -0.4
(X—5)
ABR-—2 ABRTEAMET4THESE 45 1 35, 600 35, 200 35, 200 -1.1 0.0
(A—15)
PE—2 PETNEAME2THG 9F 46, 700 46, 000 45, 800 -1.5 -0.4
(N—7)
Z2HE—10 |BBFETEHERERLET2TEHG6 1&2 68, 900 68, 800 68, 800 -0.1 0.0
(X—5)
RfE—2 mETREFE=/H334%6 53, 900 53, 900 53, 900 0.0 0.0
(X—8)
IxFE— 2 FEMEFETEEOTHE171& 54,700 54,100 53, 300 -1.1 -1.5
(r—2)
FEH—2 A EHATEKITEH40E 42,800 42, 600 42, 400 -0.5 -0.5
(nN—1)
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(A—3)
EEM (IEES5—12 (IREHEEE1TH1 4%&45 147, 000 144, 000 143, 000 -2.0 -0.7
(A5—3)
IFEE5—19 |(IREFEHFESTH1 7&45 538, 000 534, 000 543, 000 -0.7 1.7
(A5—5)
IFEE5—20 [(IEEFEEITH 1EZ24 115, 000 114, 000 113, 000 -0.9 -0.9
BN5—17)
KiE5—-5 KEHMESERT3TH 1 5&4 121, 000 120, 000 119, 000 -0.8 -0.8
(A5—9)
PES5—1 PETEFIEFE2TH1 8&H 55, 400 54,900 54, 400 -0.9 -0.9
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